N of simulated tracks vs transverse vert position

=
o
w

TrackingParticles

N of associated tracks (simToReco) vs transverse vert position

econstruged TPs
o

R
o
N

10

N of simulated tracks vs z vert position

=
o

TrackingParticles

=
o

10

0.95 ; ; ;
1072 10 1 10 10?
TP vertr (cm)

N of associated tracks (simToReco) vs z vert position |

=

Reconstructed TPs

=

10

10 20 30
TP vert z (cm)

0.95 L
1072 107

1 10 10?
TP vertr (cm)

N of simulated tracks vs.simPVz |

=
o
W

TrackingParticles

=
o
N

10 15 20
TP Sim. PV z (cm)

=5 0

Rati

=
TTT T T

0.95L i

=30 -20 -10

[l
G

10 20 30
TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Beconstru%ed TPs

o
N

5 10 15 20

TP Sim. PV z (cm)



	Contents
	Page 1


